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GRADE 11 ESSENTIAL Name:
WEEKLY QUIZ - WEE¥ Date:

¢ Open book THIS time if necessary. Use your one-page ‘cheat
sheet reference notes that you are slowly compiling. Or use mine
for now.

e Use a calculator to its full effect. Use the issued loan tables for the

Pnit . | Roundl cll deccwmal answers
e Time limit 40 Mins bk Esg 0.0l

Neat
o Tick here: O if you read these instructions (1 Mark



Make sure you have a cheat sheet, will not always be open
book!
Here is mine you can use, you can tweak up mine for now
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MULTIPLE CHOICE
Circle the letter of the one best or closest answer [2 marks each]

1. 16% of $2,300 is: L L wmay rowrol €0
e nearel e §
a. $69.56 $368 $36-800- d. $143.75
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3. $4,000 dollars invested at 6% compounded monthly for 15 years

should amount to a total amount of: ~ — —
a. $36,000 $9,816  M($3,600 ¢ $7,600
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4. The two numbers that sum to a total 15 and have a product of 54 are:

a. {5, 3) b. {11,4} ¢ {27,2} d. {6,9)
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4. The two numbers that sum to a total 15 and have a product of 54 are:

a. {5, 3} b. {11,4}y ¢ {27,2} d. {6, 9}
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5. Mike cashed in his GIC (Guaranteed Investment Certificate) for a
total amount of $3,277.23 It had earned 10% interest compounded

quarterly for 5 years. How much was his initial investment (the
Principal, P)?

a. $3,000 3 $3516.18 | $6,554 (d) $2,000
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5. Mike cashed in his GIC (Guaranteed Investment Certificate) for a
total amount of $3,277.23 It had earned 10% interest compounded

quarterly for 5 years. How much was his initial investment (the
Principal, P)?

a. $3,000 b. $3,516.18 c. $6,554 d. $2,000
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OPEN RESPONSE
Show work!

1. Romeo borrows $6,500 from his aunt for 10 months. His aunt
charges him simple interest of 5% annual percentage rate (APR).
a. Calculate how much interest, |, Romeo pays for the use of his
aunt’'s money, and

b. Calculate the total amount, A, Romeo pays back to his aunt.
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2. Alexie’s uncle bought Alexie a $4,500 Canada Savings Bond (CSB)
from the government on the day she was born. It paid 6% annual
interest compounded mggt_bly On her 18“‘ birthday her uncle gave it to
Alexi to cash in at the bank. —

a. Determine the total value amount, A, of her CSB after that 18

years.

b. Using the Rule of 72, approximately how many years would it

have taken for the CSB to ou e in value? Us- “_)
AN A= P (f +E =z 4500 )

4SEE$i1+B AE-12D
A»' ~C18%12)
- 13215. 44687

s+ 7
b) ude of 72 IP n s =% £hen Polades

ne 6331, h=3Hg=laye
He,r lumcua would I'\&UE
doubled. witer (3-years



3. Complete the simple interest table:

& = I £
A [$ I P [$] r [%lyr) t [yrs]
(D @ $1,000 6% 5 years
$2.30¢ 400 $2,000 5% T years
S1d.6G1 t!l.C? $500 3.8% 8 months
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4. Carla borrowed $600 from a Pay Day Loan. She paid back the

principal of the loan plus $40 in interest after two months. Determine the
Interest Rate, r, (APR) she was charged. Use simple interest, since

compound and simple interest are very close for short durations anyway.

I=P-r-t
‘!‘t = 630“:“'- L'h a - % 3 = 0.160¢6¢3

= mo il

I = 40/00 = "f'Ofer hundred 3 407,



5. Trevor took a loan for a car from the local used car dealer. The loan
was for $26,500 at an annual percentage rate of 25% for 5 years.

a) Determine his monthly loan payments (from tables)

b) Determine the cost of the loan (ie:

a) J9.35
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Monthl
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5 Years

3"

10
Years
Monthly

oo"-'-'

{)I' "hl 000

15
Years

Monthly

2% $84.24

$42.54

$28.64

$21.70

$17.53

$9.20

$6.44

3% $84.69

$42.98

$29.08

$22.13

$17.97

$9.66

$6.91

20%  $92.63

$50.90

$37.16

$30.43

25%  $95.04

$53.37

$39.76

$26.49

$33.16{ $29.35])

$19.33

$17.56

$22.75

$21.36

J&Lgst paid on the Ioan)
12,33 per month!
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1. If three hot dogs and one coke costs $12.00 and one coke is $2 |£§H '
than a hot dog, how much does a hot dog cost?
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We will be just graphing it later in the

course to see the solution
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2. Determine the sum of all the (whole) counting numbers from 1 to 30.
ndadem @l Classic problem ! Look for o |

F;\_{{:rh..
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or you might have done it
on a calculator without
making a mistake!

142+3+4+5+6+7T+8+9+10+11+12+13+14+15+16+17+18+19+20

<
A0+ +2+28+2%+D+2+2(+28+29+3(



3. The area of a circle is given by the Grade 10 formula:
Area = mr?. Determine the approximate diameter of a circle having an
area of 120 cm=
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So that was it
| tried to show you some test tactics
| tried to show you some of what we

will be doing to make the problems
more easy to solve too

LOAD CLEAR !




